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)

Answer (a)(i) ( j [2]

ANSWer (a)(11)...eevveeeneeineannnnnn.

)

Answer (a)(iii) [ j [3]

1 (@) Evaluate
: -3 -7
® _2[5 -1
-1
(i) (-3 5 0 ,
~7
o (472,
(iii) (0 _3]
(b)

. 3 0)(a -6\
Given that = ,find aand b.
3 -1){b 10

Answer (b)a=.........ccoeeviiiininnn
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3 For
Examiner’s
2 (@ Simplify. e
18
Xx+3 x-1
ANSWEN (8).....ieenieniiniiannnnn, [3]
(b) Factorise the following.
(i) X2—4x — 12
Answer (0)(1).......ocoiiiiiiiin, [2]
(i) p?—1
Answer (D)(i1).......ooevieiniinnnnnn. [2]
(© Solve the equation.
2-x_4_,
3 5
ANSWEL (C).nvvviiiiieiieaaennn, (4]
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3 @) ABCD is a trapezium.
O and P are points such that OPCB is a rectangle.
AO = PD.

BC =5aand 4D =9a. BO = 3b.

B 5a C
4 3b
A 0 Y P D
Find
(i) 40
ANswer (@)(1).....c.ooeevieeeiiiieeeea [2]
iy CD
Answer (@)(1).....c.ooeeveiiiiiiieanns [2]
(i) DB
ANSWEN (Q)(111) ... eeeeeeeeeeeeieeeeeeeeeaa [2]
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(iv) C4

ANSWET (A)(1V)..veneenieieiiieeeeeeaea, [2]

— 8 — 4
(b) You are given that AB = andCD= :
-6 3x-2

(i) Find |45

Answer (0)(1)......oeeeeieii, [3]

(i)  Find the value of x, given that AZ is parallel to CD.

Answer (D)(i1)........ooeeeiiii [3]
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6

A game is played using two dice. The possibility space is shown below.

[ improve the crosses and axis lines and arrows, make text of numbers same as the rest of text]

A

6 X X X X X X
5 X X X X X X
4 X X X X X X
3 X X X X X X
Second die
2 X X X X X X
| X X X X X X

Find the probability that

(@  The sum of the scores is 7, First die

ANSWEN (B)..evveeneineinienieieiieeea, [2]

(b)  The number on the first die is greater than number on the second die,

Answer (B)........coooiiiii [2]

(© The number on both dice are square numbers,

ANSWEN (C)..ouvinviveieiieiiieeeienn, [2]
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7

(d) The number on the first die is a multiple of 5 and the number on the second die is
a multiple of 3.

Answer (d)........ooooiiiiiiii, [2]

5 A boy looks outside a window of a tall building.
The vertical distance of the window from the ground is 7 m.
He sees a ball on the ground 15 m from the base of the building.

(@) Draw a sketch showing the position of the boy, the base of the building and the ball.

[2]
(b) Calculate the angle of depression of the ball from the boy.

Answer (D) ..o °[3]
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6 (@) Given that m=

Jn—-8
3

Q) make n the subject of the formula,

Answer (a)(i)...

@i)  findnwhenm=-2.

Answer (a)(ii) n =...

(b) Solve the inequality 5 —3x >Xx— 2.

Answer (b)....
() Youare given the function f(x) = 5’; ; 2
Find
i fQ

Answer (c)(i)
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(i)

f(0)

For
Examiner’s
llse

ANSWEr (C)(I1).nveneeneeiiieeeaa [2]
(d) You are given the rectangle below.
3x +2y
6
2x— 3y
9
Q) form two simultaneous equations from the rectangle,
ANSWET (A)(1).. vt
.......................................... [2]
(i) Solve the two simultaneous equations in (d)(i).
Answer (@)(I) X=................ andy=..........coeiiinnn [3]
©ECESWA 2020 519/0/N/2020 Turn over



7

10

The variables x and y are connected by the equation y = 4x — x2.

X

-2

-1

y=4x—x?

-8

-5

@ Find the values of p and g.

ANSWEr (B) P= i

(b)  On the grid below, draw the graph of y = 4x — x°.

[Insert grid with small squares, x axis and y axis with solid arrows]
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For
Examiner’s
llse

(o) Write down the equation of the line of symmetry for the curve.
ANSWEN (C)..ovirieriiieeiieeenn, [1]
(d) Use your curve to solve the following equations,
(i) Ax—-xt=-2
Answer (d)(I) x=.......... OrX = .....ccevnnn [2]
(i)  4x—-x2=x-1.
Answer (d)(il) x=.......... OFX=...cocvinrnnn [4]
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PQR is a triangle.

PQ=6cmand QR = 10cm.

Angle QRP = 25°, angle SQR = angle QMR = 90°
S and M are points on PR.

The height of the triangle is hcm.

P

Calculate

(@ SR,

ANSWEN (8)....ouvevenieeiiiiieiennns cm [3]
(b) h, the height of the triangle,

Answer (B)......ooiiiiii cm [3]
() PM,

ANSWEN (€)oo, cm [3]
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(d)  Angle PQR.

Answer (d)......ocooeeiiiiii ° 4]
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9 A survey was carried out in a school to find masses of learners.
The table shows some the masses of learners, measured in kilograms.

55 3 3
56 6 9
57 11 20
58 17
59 28
60 18
61 12
62 5

(@)

(b)

(©

©ECESWA 2020

Complete the cumulative frequency table.

State the total number of learners in the survey.

Answer (D).......ccoviiiiiiiiiia

Calculate the number of learners that had a mass of 59 kg or more.

Answer (c)
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(d)  On the grid below, draw the cumulative frequency curve. Insert grid

[insert grid with small squares, x axis and y axis with solid arrows]

o4

=X
[3]
()  Using your curve, estimate the median mass.
FN T o () P [2]
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